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I. Multiple Choice Questions: Choose only one correct answer to each
question 60%%

Part A. Vocabulary 20%
__ l.Taiwantodayisa __ demoecracy with a highly competitive market-oriented
ECANOMTY.
(A)hulking  (B)humpy  (C) hurly-burfy (D) hole-and-corner
__2.CID sales have been declining year-on-year with the introduction of CD
and MP3 files.
[A) burners () collectors (C) composers (D) lovers
3, We'realways in search of _ intechnology development.
(A) trespass (B) straightness () crackdown (D} breakthroughs
4 Although youthful, vigorous and prosperous, the Taiwanese have become
victims of an education system that seeks (o produce  earners rather than
original thinkers,
(A} wholesome (B} high-wage  (C) weary (D) high-handed
5 John's s bothering him because he lied to his colleagues. |
(A) consensuz.  (B) conscience:  (C) conzciousness: (1) consentience
6 Maryisvery . She says exactly what she's thinking even if it huris.
(A) questionable  (B) befuddled  (C) bashful (D) blunt
7. This gourme! restaurant has a most _ group of patrons, including
Catholics, Moslems, Buddhists and Hindus.
(Ayelated (B)elective (C)eclectic (D) elastic
B Investors have become more  sfter the recent stock market crash.
(A) circumspect (B circumfluent () cireumjacent (D) circumpolar
9. TnChinese, thereisno ot the end of a word to indieate the plural form,
(A) inflection (B) infliction  {C) inflation (D) infraction
_ I0.The  growth inthe mumber of users of the Internet is the most amazing
phenomencn in mass communication in recenl years.,
(A) explorative  (B) exponential  (C) expiatory (D) explicable

Part B. Grammar 20%

__11. The music is becoming more diverse that young people _ complete
freedom 1o access and exchange information,
(AYhaving (B)being (C)were (D) have had

12 Without direct access to information and resources in WHO (World Health
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Organization), Taiwan 1o fight diseases on its own
(A)hashed (B)hadbeing (C)hasbeen (D) was
13, Tina is so candid that when 1'm listening to her, Ifeel _ she is my trust
friend.
(A)evenil (B)asif (C)whatif (D) thatif
_ 14, Nowadays, the television __as a babysitter, with nannies particularly,
{A)wasused (B)hasusing (C)isbeingused (D) is been used
_ 15 5usan  stupid all in ber life.
(A)hasbeenbeing (B)isbeen  (C) has being (D) was been
___16. The agency sent us several applicants, the most quelified _ was the
first one.
(A)that  (B)whose (C)inwhom (I3 of whom
_ 17 It has been suggested that esch member  some money for the
renovation of the clubhouse,
(A) contributes  (B) has contributed  (C) contribate (D) has been
contributed
_ JE T by many that she had married for money.
{A)isthinking  (B) thinks  (C) washought (D) thought
19 'haven't gone to that exhibit yet, nor do [ have any intention
(AYx  (Bywo (Clin (D)of
20, every effori is being made 1o improve the Goancial condition of this
compiny, the term of the loan will be extended.
(AYAsmuchas (B) Aswellas (C) Since that (D) Inasmuch ag

Part C. Cloze Test 20%

The talented Tom Hanks has played many different movie roles. Termipal is the
first movie 21 he must speak with a European sccent, He plays Vikior, a
traveler 22 small country is destroyed by war when he takes & plane o
America. Viktor cannot return home, 23 can he enter the ULS. Then he falls in
love with a pretty Dight attendant eand 24 plan an escape!
21 (A)inwhich (B)where (C)that (D) which
22 (A)that  (B)whom (C)who (D) whose
_ B(A)oeor  (B)or  (C)seldom (D) even
_ aA)is (Byhave (Cimust (D) ought

The roommale situation is the first challenge students face. Learning to tolerate o
stranger’s idiosyncrasies 25 teach flexibility and theat 26 compromise,
But the learning process is often painfil.
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— 25, (Mought (B)may (C)like (D)as
26.(A)in  (B)at (Cyof (D)on

Campus officials say that communicating on the Internet or maming the huge
universe of information 27 the World Wide Web holds an especially powerful
lure for many coliege students 28 ittakesthem _ 29 & vast new realm of
learning and research, usually 30 no cost.

— . (A)on  (B)in (C)at (D)of

2B (A)which (B)whose (C)what (D) because
___29.(A)for (B)into (C)of (D)at

_ A {A)of (Blem (Clat (Din

1. Reading Comprehension: Choose the best one answer to each question
20%

Learning is an sctive, constructive process wherehy the learner strategically
manages the available cognitive resources to create new knowledge by extracting
information from the environment and integrating it with information already stored
in memory, With the rapid development of computer technology and fts application in
language instruction, many researchers in the past ten years have engaged in the study
of this kind of active and constructive leaming process in multimedia environment.
Researchers have found that & multimedia leaming eovironment provides the means
lo facilitate the leamning process by manipulating the availability of specific
information at a given moment, by controlling the duration of that availahbility, by
varying the way information is presented, and by ensuring the ease with which it cen
be searched,

__ 31, What is the main idea of the passage?
{A) Multimedia leaming environment organizes the information for leamners.
(B} Mullimedia learning environment differs from computer technology.
{CyMultimedia learning environmen! provides the availability in the
learning process.
(D) Multimedia learning environment controls the duration of learning.
32, Which one of the followings can identify the topic?
(A) Researchers have pointed out the rapid development of learning.
(B} Multimedia environment facilitates the learning procesa,
(C) The leamer extracts information and stores in memory.
(D) Learning is an active and constructive process,

Complimenting is a kind of speech act belonging to the category of expressives.

3
(7 do T 370 84 )
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Complimenting is a positive politeness strategy aiming 1o praise the addressees for &
past or present action. In other words, compliments are prime examples of speech acls
that motice and attend to the hearer's interests, wants, and needs. A frequent
denotation is Holmes’s (1988:446) definition: “A compliment s & polite speech act
which explicitly or implicitly atiributes credit to someone other than the spenker,
Ususlly, the person addresses for something good which is positively valucd by the
speaker and hearer.” She defines a compliment as a speech act that is sceomplished
either explicitly or implicitly to express admiration or approval for some good of the
addressee. In such & situation, explicit compliments are those whase meaning is
understoad literally, as in a direct specch act Similarly, implicit compliments aceount
for indirect speech acts whose meening can be inferred among participants,
____ 33, Which one of the followings expresses the topic of this passage?

(A) The various categories of expressives

(B) The direct and indirect speech acts

(C) The positive politeness strategy of the speakers

(D) The definition and classification of compliments
%4, Which one of the followings is not correct?

{A) Compliments notice the hearer's interests and needs,

(B) A compliment expresses admiration for something good of the

addressee.
{C) A compliment is a polite speech which is valued by the speaker.
(D) Firgplicit compliments are those whose meaning is understood literally,

Traditionaily, sculplure as o genre has not been as powerful of & creative
phenomenon in Pacific-rim cultures like China, Jupan or Korea. But it has thrived in
cultures of the Aegean, like the Cycladic islands and later the mainland of Greece
centering on Athens where stone seulpture reached its spogee early, atfaining ease and
fuidity in the round, as well as becoming a palpable conveyor of motion and
emotions, To this day, Europeans walking the streets, ket alone going into cathedrals
or museums, are profoundly familiar with images of solid forms moving in space.

_ 35.The pussageisgbout .

(A) Aegean (B space (C) sculpture (D) genre

After | had been living in Singapore for 18 months, my retum to the LK. was
depressing when it came to fish dinners. Having enjoyed my sojourn in Southeast
Asia and discovered Asian wel-market culture with the wonderful selection of live
seafood and fresh fish including blue-fin tuna, wild sea bass, and coral grouper, going
home was a shock, OF course, in the LLK. we have superb cold-water fish such as
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halibut, cod, and haddock, but when you buy seafood you'll find yourself gazing in
disbelief at the prices and at the sorry-looking half-frozen display of defrosting
specimens that an Asian chef would reject immediately.
__36. Which one of the followings is not listed in the passage?

{A) geographic region  (B) restaurants  (C) delicious dishes

(1Y) markats
37 What might be a good title for this passage?

(A) Prices of Fish  (B) Defrosting Specimens (€} Southeast Asin

(I} Wet-market Culture

If you are a frequent patron of fast-food restaurant in Taipei, you may have
discovered thal most stores have added some new dishes to their menus. For the first
time since it set up shops in Teiwan 19 years ago, KFC has introduced a pork burger,
MeDonald has also added a pork berger to its offerings, and Japanese-owned Mos
Burger has started to serve a shrimp burger and seafood meals.

All of the changes were adopted to make up for declining sales of chicken and
beef following the spread of avian influenia across 10 countries in Asia since mad
cow disease discovered on December 23, 2003 in Washington State in the United
States. Although the bird flu has appeared in Taiwan located as the weaker strain this
year, the government’s Council of Agricolture reports that at least affected 371,000
chickens and ducks hed been put to death in the end of February. With regard to the
mad cow disease, the government stipulsted thet any beef containers packaped after
Diecember 24, 2003 would not be allowed to enter Taiwan,

__ 3B. Which one of the followings is not correct?
(A) The avian flu and mad cow disease have caused consumers lo promate
seafiod.
{B) The bird flu has appeared in Taiwan located as the weaker strain.
{C} The government stipulated a ben on beef mports.
{D)) Fast-food restaurants set up in Talwan nineteen years ago.
19 The main idea of this passage isthal
{A) fast-food restaurants have added new dishes for consumers.
{B) the spread of avian influcnza comes across fen countries in Asia.
{C) the owners of the fast-food restaurants acknowledge the great impact on
the diseases,
(D) mad cow discase has been discovered in Washington State in the United
States.
40, Tt can be inferred from this passage that
(&) fast-food restaurant owners welcome beef imports from mad-cow-

5
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disease-free countries.
(B} fasi-food restaurants have to revise their menus or sources of supply.
(C) the wave of international epidemics has triggered considerable anxiety
among government workers.
(D) the sales of chicken and beef have been changed to well-cooked rice,

IL Writing an Essay ~ 20%

Topic: Art is engendered in the genuine creativity and inspiring originality, Some
say that genius is liberated only when the artist remains deaf to outside
noises, deeply fascinated by, and more than satisfied with, the
ever-expanding horizons withinn What are your viewpoints and
expectations sbout genius?
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h. Please explain the following terms:

(1) Confounding (5%}

(2) Ecological fallacy (5%)
{1) Secondary association (5%)
{4) Birth cchorkt (5%)

B. {A) Biological plausibility
(B} EEfect modifier
{C) External wvalidity
(D) Internal validicy
{E) Intervening variable
{F) Measurement bias
{G) Necespary cauge
[H) Recall bias
{I) Sufficient cause
[J) Synergism

The parameters listed above are related to the assessment of
causality. For each of the following descriptions, select the
corresponding paramekter. [20%)

Bi. This alters the nature of a true relationship between an
exposure and an outcoms

B2 This is a systematic distortion of study data; an example is
weighing the subjects in a study while they ars fully
dresaed.

B3, This is a multiplicarive effect of one exposure variable on
another.

B4. This is present when the study population resembles the
larger population from which it was drawn.

ps. Thig is pregsent if it is posaible to understand a mechanism
by which the apparent cause could induce the apparent
effect,

B5. This is a means or the means by which the causal faceor
leads to the outcomsa.

B7. This is required for a disease to occcour.

BS. Thie is a systematic distortion in retrospective atudies;
it is eliminated by a proepective design.

RO . This i3 the sole reguirement for a diseass to ooour.

Bi0. This ia present when study results ares obtained in an
unbiased manner.

C. A study is conducted to determine the effects of drinking
Mountain Dew on a teenager's willingness to bungee jump Erom
frightful heights. A total of 500 teenagers are assemblead on che
basis of bungee-jumping statas: 250 are jumpers, and 250 are
not. Of the 250 jumpers, 150 report drinking Mountain Dew. OF
the 250 nonjumpers, 50 report drinking Mountain Dew. A majority
of the nonjumpers report a preference for warm milk. (15%}

©1, Which of the folleowing statements is Lrue?
{a] Jumpers and nenjumpers should be matched for beverage
congumption

{B} The absolute and relative risk of bungee jumping can b=
determined from this study

{c) This is a cohort study )

{d} This study can be used to calculate an cdds Tacioc

le} Unanticipated putcomes can be assessed in Ehis sbudy

(o H A AR -
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C2. What is the absolute difference in the risk of jumping?

tal It cannet be calculated, bacauge jumping is the
dependent variable;

{b) It cannot be calculated, because this is a case-gontrol
study;

fe} iE i 3:a

tdl It i= 190

(e} it is 150

C3. The odds ratic caleculated from this gtudy will give the
odds of
{a) drinking among jumpers to drinking among nonjumpers
ib) drinking among nonjumpers to drinking among jumpers
tc) drinking Mountain Dew to Jumping
(d} jumping among drinkers to drinking among jumpera
(e} nonjumping among drinkers to nordrinking among jumpers

Cd. The odds ratig in Ehis study ia

fa) 0.2
(b) 0.8
{e) 2.0
(d) 5.0
{a) 6.0

C5. The results of this study indicate thar

() bungee jumping and beverage choice arse associated

(b} bungee jumping and beverage choice are causally
agsociated

ic) bungee jumping influences a pereon’s choics of beverage

{d) the choice of beverage influences a person‘s tendency to
bungee jump )

{e} There iz no association betiween warm milk and bunges
jumping

0. Consider each of the foliowing scenartos and state whether the varlable
In guestion Is a confounder: (20%)

D1 A study of the relatlonship betwean contact lans use and the risk of
£YE Ulcers. The crude relathe risk is 3.0 and the age-adusted
relative risk 15 1.5 15 age a canfaunder In this SCUdYT

D2 A case-control study of the relationship between cigarette smaoking
and pancreatie cancer. In this study, coffee drinking & associated with
smoking and s a risk factor for pancreatlc cancer among both smokers F
and nonsmokers. s coffep drinking a confounder In this Study?
3. A study of the relatlonship Detween exercke and heart attacks that

Is conducted among men who do not smoke, 15 gender a confavnder in
this study?

Da. A cohort study of tha risk of liver cirrhosis ameng femate
alcoholics. Incidence rates of cirrhosis among alcoholic women are
Lampared to those among nonalcohollc women, Nonmalcoholics are
Individuaily matchad to alcoholics on month ang yaar af hirth. s
age a confounder in this stuay?

R - A1

A
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E. Suppose that 100,000 men were screensd for prostate cancer for
the ist time. Of these, 4000 men had a poaitive result on the
screening blood test; of those who tested positive, B00 had -a
biopay indicating a diagnoeis of prostate cancer, Among the
remaining 96000 men who soreened negative, 100 developed prostate
cancer within the following year and were assumed te be False
negative to the acresn. (20%)

El. Set up the two-by-two table for these kable.

E2. What i3 the prevalence of prostate cancer in bhis population?

E¥. Calculate and interpret the sensitivity of this screening
teat:

E4. Calculate and interpret the specificity of this screening
tesk

ES. Calculate and interpret the predictive value positive of
thie soreening test.

F, Btate the main difference between an age-specific rate and an
age-adjusted rate. (5%}
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X,=150.3 mmHg S:=16.2 mmHg n,=30
Xy=1453mmHg  Sg=7.1 mmHg  n,=30
(Fos. 2020=1.85 5 Uygs apsy =2.0)

= — ARSI T B g A A8 i (echo) BB
(mammagraphy)®H#§ « 44 200 4 40 £ 60 £ F&ey
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